SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services		A.S.M. Pro In Automotive S 1100 W. LBJ Irving, Tx 750 Tanvir Suri Tel: 214-753- Fax: 214-753-	pecialists Frwy, Suite 100 063 8611	
DESCRIPTION:	Est. Qty.			
Section 1: Turnkey Solution that includes the Removal of Existing Transmission and Installation of Contractor Furnished Rebuilt/Remanufactured/Overhaul Transmissions. Price to include all labor, installation and removal cost, material, supplies (including shop supplies), fluids, filters, road testing, adjustments, diagnostic, inspections, transportation (pick-up and delivery), etc., as outlined in specification requirements				
1. Ford – AF21-B Transmission with Torque Converter Specify Credit/Deduction Amount if Torque Converter is not required:	15 eac	\$2,400.00 \$249.00		\$36,000.00
Specify Core Charge (if any):		\$350.00		
2. Ford – AOD Transmission with Torque Converter	10 eac	\$595.00		\$5,950.00
Specify Credit/Deduction Amount if Torque Convert is not required:		\$129.00		
Specify Core Charge (if any):		\$350.00		
3. Ford – AODE Transmission with Torque Converter	100 eac	\$695.00		\$69,500.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$149.00		
Specify Core Charge (if any):		\$350.00		
4. Ford – AWF21 Transmission with Torque Converter	15 eac	\$1,885.00		\$28,275.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$329.00		
Specify Core Charge (if any):		\$350.00		

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair, Automotive Specialists Replacement and Other Related Services** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. 5. Ford – AXOD Transmission with Torque \$1,295.00 \$2,590.00 2 each Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 \$2,790.00 6. Ford – AXODE Transmission with Torque each \$1,395.00 2 Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 \$14,950.00 7. Ford – AX4N Transmission with Torque 10 each \$1,495.00 Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 8. Ford – AX4S Transmission with Torque 2 each \$1,495.00 \$2,990.00 Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 9. Ford – AX45 Transmission with Torque 2 \$1,495.00 \$2,990.00 each Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 \$25,900.00 10. Ford – A4LD Transmission with Torque 20 each \$1,295.00 Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 11. Ford – C6 Transmission with Torque 8 each \$785.00 \$6,280.00

Converter

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair, Automotive Specialists Replacement and Other Related Services** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$350.00 12. Ford – CD4E Transmission with Torque \$11,370.00 each \$1,895.00 6 Converter Specify Credit/Deduction Amount if Torque \$349.00 Converter is not required: Specify Core Charge (if any): \$485.00 13. Ford – CVTPSE Transmission with Torque 4 \$0.00 \$0.00 each Converter Specify Credit/Deduction Amount if Torque \$0.00 Converter is not required: Specify Core Charge (if any): \$0.00 14. Ford – E40D Transmission with Torque 10 each \$1,495.00 \$14,950.00 Converter Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$485.00 15. Ford – FNR5 Transmission with Torque 15 each \$1,985.00 \$29,775.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$525.00 16. Ford – 4R55E Transmission with Torque \$2,990.00 2 each \$1,495.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$485.00 17. Ford – 4R70E Transmission with Torque 150 \$1,285.00 \$192,750.00 each Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required:

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services			A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	
DESCRIPTION:	Est. Qty.			
Specify Core Charge (if any):			\$485.00	
18. Ford – 4R70W Transmission with Torque Converter	10	each	\$1,585.00	\$15,850.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$385.00	
19. Ford – 4R75E Transmission with Torque Converter	25	each	\$1,485.00	\$37,125.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$485.00	
20. Ford – 4R75W Transmission with Torque Converter	100	each	\$1,385.00	\$138,500.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$485.00	
21. Ford – 4R100 Transmission with Torque Converter	50	each	\$1,575.00	\$78,750.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$650.00	
22. Ford – 5R55E Transmission with Torque Converter	5	each	\$1,495.00	\$7,475.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$515.00	

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair, Automotive Specialists Replacement and Other Related Services** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. \$1,695.00 23. Ford – 5R55N Transmission with Torque each \$1,695.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$515.00 24. Ford – 5R55W Transmission with Torque 2 each \$1,495.00 \$2,990.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$515.00 \$21,000.00 25. Ford – 5R110W Torque Shift F250/F350 10 each \$2,100.00 Transmission with Torque Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$785.00 26. Ford - 6F35 Transmission with Torque \$20,850.00 10 each \$2,085.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$785.00 27. Ford - 6F55 Transmission with Torque \$22,850.00 10 each \$2,285.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$785.00 28. General Motors – 4L60E Transmission with 5 \$5,925.00 \$1,185.00 each **Torque Converter** Specify Credit/Deduction Amount if Torque \$249.00 Converter is not required: Specify Core Charge (if any): \$485.00

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services			A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	
DESCRIPTION:	Est. Qty.			
29. General Motors – 4L80E Transmission with Torque Converter	5	each	\$1,485.00	\$7,425.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$650.00	
30. General Motors – 4T40E Transmission with Torque Converter	2	each	\$1,485.00	\$2,970.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$585.00	
31. General Motors – 4T45 Transmission with Torque Converter	5	each	\$1,385.00	\$6,925.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$585.00	
32. General Motors – 4T60E Transmission with Torque Converter	1	each	\$1,195.00	\$1,195.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$580.00	
33. General Motors – 4T65E Transmission with Torque Converter	1	each	\$1,485.00	\$1,485.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$585.00	
34. General Motors – 6T40 Transmission with Torque Converter	5	each	\$1,685.00	\$8,425.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$680.00	

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services			A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	
DESCRIPTION:	Est. Qty.			
35. General Motors – 440T4 Transmission with Torque Converter	1	each	\$750.00	\$750.00
Specify Credit/Deduction Amount if Torque			\$329.00	
Converter is not required: Specify Core Charge (if any):			\$480.00	
36. General Motors – 700R4 Transmission with Torque Converter	10	each	\$735.00	\$7,350.00
Specify Credit/Deduction Amount if Torque			\$329.00	
Converter is not required: Specify Core Charge (if any):			\$485.00	
37. General Motors – Allison 1000 Transmission with Torque Converter	2	each	\$2,495.00	\$4,990.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$589.00	
Specify Core Charge (if any):			\$685.00	
38. General Motors – A-34H/E Transmission with Torque Converter	1	each	\$2,585.00	\$2,585.00
Specify Credit/Deduction Amount if Torque			\$419.00	
Converter is not required: Specify Core Charge (if any):			\$785.00	
39. General Motors – 4165E Transmission with Torque Converter	1	each	\$1,495.00	\$1,495.00
Specify Credit/Deduction Amount if Torque			\$329.00	
Converter is not required: Specify Core Charge (if any):			\$785.00	
40. General Motors – 515OE Transmission with Torque Converter	1	each	\$1,495.00	\$1,495.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$349.00	
Specify Core Charge (if any):			\$785.00	
	l	Page 7	of 13	•

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair, Replacement and Other Related Services Automotive Specialists** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. 41. General Motors - 6L80 transmission with \$1,880.00 \$18,800.00 10 each torque converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$785.00 42. Chrysler – A500 Transmission with Torque \$1,285.00 \$1,285.00 1 each Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$485.00 \$1,385.00 43. Chrysler – A-518 Transmission with Torque 1 each \$1,385.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$585.00 44. Chrysler – A604 Transmission with Torque each \$850.00 \$850.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$495.00 45. Chrysler – 5-45RF Transmission with Torque 1 \$1,395.00 each \$1,395.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$785.00 \$2,970.00 46. Chrysler – 42RLE Transmission with Torque 2 each \$1,485.00 Converter Specify Credit/Deduction Amount if Torque \$329.00 Converter is not required: Specify Core Charge (if any): \$585.00

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair,** Automotive Specialists **Replacement and Other Related Services** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. 47. Chrysler – 44RE Transmission with Torque \$1,485.00 \$1,485.00 each Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$585.00 \$1,585.00 48. Chrysler – 46RE Transmission with Torque 1 each \$1,585.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$585.00 49. Chrysler – 48RE Transmission with Torque \$3,170.00 each \$1,585.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$645.00 50. Chrysler – 68RE Transmission with Torque \$3,170.00 2 each \$1,585.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$685.00 51. Chrysler – 68RFE Transmission with Torque 2 \$3,370.00 each \$1,685.00 Converter Specify Credit/Deduction Amount if Torque \$429.00 Converter is not required: Specify Core Charge (if any): \$685.00 52. Chrysler – 413 Transmission with Torque \$595.00 1 each \$595.00 Converter Specify Credit/Deduction Amount if Torque \$189.00 Converter is not required:

\$385.00

Specify Core Charge (if any):

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services			A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	
DESCRIPTION:	Est. Qty.			
53. Chrysler – 618 Transmission with Torque Converter	1 ea	ch	\$1,385.00	\$1,385.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$329.00	
Specify Core Charge (if any):			\$485.00	
54. Chrysler – 670 Transmission with Torque Converter	1 ea	ch	\$595.00	\$595.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$189.00	
Specify Core Charge (if any):			\$435.00	
55. Chrysler – 722-6 Mercedes Benz (Magnum/Charger) Transmission with Torque Converter	10 ea	ch	\$2,250.00	\$22,500.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$429.00	
Specify Core Charge (if any):			\$785.00	
56. Chrysler – 722-9 (Charger) Transmission with Torque Converter	10 ea	ch	\$2,500.00	\$25,000.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$429.00	
Specify Core Charge (if any):			\$1,895.00	
57. Chrysler - 727 Transmission with Torque Converter	5 ea	ch	\$325.00	\$1,625.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$149.00	
Specify Core Charge (if any):			\$385.00	
58. Chrysler – 904 Transmission with Torque Converter	5 ea	ch	\$325.00	\$1,625.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$149.00	
Specify Core Charge (if any):			\$385.00	
	Pag	e 16	<mark>Ն</mark> f 13	

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services		A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	
DESCRIPTION:	Est. Qty.		
Section 2: Miscellaneous and Repair Services - To be performed as needed/as requested by Dallas County			
59. Diagnostic Check to include to but limited to computer and electronic diagnosis, fluid inspection, lift and pan inspection, road test and all labor, equipments, and material/parts associated with diagnostic check	150 each	\$0.00	\$0.00
60. Labor Rate for Transmission and Gears Repair/Replacement and Maintenance Services including transfer cases, clutches, drive shaft, differential, and other types of related services not specified under this contract	100 hours	\$50.00	\$5,000.00
61. Replacement Parts, Supplies and Materials – Markup –Only applicable to parts, supplies and materials not included as part of the Rebuilt/Remanufactured/Overhaul Transmissions specification requirements	s		
Contractor Cost Plus + % Note: A copy of the Contractor's invoice(s) from his/her supplier for such parts, supplies and materials shall be submitted with the Contractor's invoice for payment. Failure to provide the required documentations will result in non-payment and/or delay payment. All freight/transportation charges (when applicable) associated with this category will be treated as pass thru cost with no mark-up.		10.00%	\$5,500.00
62. Minimum Service Charge for any Repair, Replacement, and Maintenance Service Request: Note: Dallas County will pay the minimum service charge fee or unit price for each service request whichever is greater (but not both)	Page 1	\$35.00	
	. 290 1	-	

SYNOPSIS Bid No. 2014-011-6392 Annual Contract for A.S.M. Pro Inc. dba T&K **Automotive Transmission Repair, Replacement and Other Related Services Automotive Specialists** 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615 **DESCRIPTION:** Est. Qty. Total \$953,440.00 Modules (transmission control Specify any additional comments/cost/etc. included with your bid proposal, if applicable: and power control) and sensors additional Should your firm be awarded this contract, None - All work done in house describe what (if any) portion of the bid requirements will be subcontracted out: 3 days **Turnaround Time:** The ability to quickly pickup, repair and return a vehicle is critical to the success of this contract. Please indicate your typical "turnaround" time for a transmission repair. From time of contact to redelivery of the vehicle, our company/firm will complete typical repairs in (if different from the time requested in bid requirements):/days Specify Prompt/Early Payment Discount Terms 2%-10 days (if any): Specify the name, telephone number and email 972-Kanwar Suri

241-8833/214-753-8611

kdssuri@gmail.com

address of the account representative who will be

handling and managing this account: Note: It is

the responsibility of the awarded bidder to notify Dallas County of any account representative

and/or contact person changes.

SYNOPSIS

Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services

DESCRIPTION:

Est. Qty.

Specify the alternate name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.

Please list all of business repair facility locations below (address and telephone number) that will be servicing Dallas County account: A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri

Tel: 214-753-8611 Fax: 214-753-8615

Andrew Lawson 972-241-8833/214-753-8611 tandk.irving@gmail.com

T&K Automotive Specialists 1100 W. LBJ Fwy.,Irving, TX T&K Automotive Specialists 15200 Marsh Ln, Addison, TX